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Q:1 M sinB-cos O = 5/17 ¥, ©(dsin 6 +
cos 6 dd VI~ $9?

1.283/17

2.207/17

3.264/17

4.~239/17

Q:2 A0 TN fGQUoR 5FC 4 tanp A7
V[N PO?

1.0

2.1/2

3.1/3

4.1

Q:3 M, A=30°2, OIR( cos?A +
c0s2(60° + A) + cos2(60° - A) 7 NI fNefT
<PdI

1.3/2

2.3/2

3.-3/2

4.1

Q:4 M cos6 + sinB = m 43¢ sech + cosech =
n F, M/n 49 N $©?7?

1.1

2. sinB cosB

3. secB cosecB

4. tan@ cotb

Q:5 ¢ 93 NI N7 AT, I V2secd - tand
= 1, (T4 (0° <@ <90°)
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1. 60°
2.30°
3. 45°
4.0°

Q:6 [Cos 0° x Cos 15° x Cos 45° x Cos 90°]
IR NI [N ST

1.0

2.1

3.1/2

4.3/4

Q:7 ¥M tan? A = 25/144 X, O Sin A + Sec
A T N R 11

1.229/156

2.263/156

3.29/60

4.165/124

Q:8?lﬁ:_(secA+tanA= m X, O(d Sec A A9
AN p9?

1.(m?+1)/2m

2. (M?-1)/m

3. (m%+1)/m

4. (m?-1)/2m

Q:9 3 tan?60° + 9 cosec?60° + cos 0° AT NN
g a2

1. 21

2.15

3.25
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Q:10 2sin15°cos75° + (tan 22° - cot 68°) x
sin 11° 98 WA N F4|

1. I ICI AT
2.1/2

3.0

4.3/2
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1.3) 2.(4) B.(1) 4.2 5.(3)
6.(1) [7.(1) [8.(1) 9.(4) [10.(2)

Q:1 53 Ged = Iy 3 W] V264/17
sin®-cos B =5/17

(sin © + cos B)? + (sin - cos B)? =2
(sin 8 + cos B)% + (5/17)% =2

(sin 6 + cos B8)? + (25/289) = 2

(sin 6 + cos B)? = 2 - (25/289)

(sin 6 + cos B8)? = 264/289

(sin © + cos B) = V(264/289)

(sin 6 + cos B) = \V264/17

Q:2 53 G = Iy 4 =g 1

SN fG9S ABC- (@

£C =900 (STNCHN fawo)

LA = £ (ST IRR RAT© &9 90
fagres sTw)

LA +2B +£C = 1800 ((AGIGA (F1T STN(D)
2,B =900

2B =459

tanp = tan 45° = 1

Q:3 33 Gad =4 fIFg 1 WS 3/2

cos?A + cos2(60° + A) + cos%(60° - A)
(MBATHICR, A=30°

= C0s%30° + Cos?(60° + 30°) + Cos?(60° — 30°)
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= C0s230° + Cos290° + Cos%30°
= (vV3/2)2+ 0+ (v3/2)2

= 3/4 +3/4

= 3/2

Q:4 3% T8 "-'A_G*Tﬁzrsi 2 W18 sind cosO
Ry IR Ao

6 = 45° ITCY 1}

m = cosB + sin® = cos45° + sin45°

m=1/N2 +1/V2=2/N2 =\2

n = secB + cosech = sec45° + cosec45® =2 +
V2 =242

YN, m/n =2 /2\2=1/2

2 g (A=,

sin@ cosB = (1/\2)(1/\2) = 1/2

Q:5 33 Ged =4 fIFgg 3 W] 45°|
Regeferd W&y MU WS AN B
OICAT S,

RFH 1 AT FE AR,

\2sec60° - tan60° = 2v2 - V3 # 1

R 2 AT I AR,

V2sec30° - tan30° = 2V2/\3 - 1/V3 # 1
P 3 TS FF AR,

\2sec45° -tand5° = \2x\2-1=2-1=1
odIe, A2 fOND W AT F(F,

45° MG TNBFINS Tz IR

SOdIE, 45° =6 ADF God|

Q:6 SIOF e = fIFg 1 ™A1R 0
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[Cos 0° x Cos 15° x Cos 45° x Cos 90°]
SINHI G, Cos 90° = 0
STode, AMIMGI W = 0

Q:7 513 T8 = Iy 1 wag 229/156
Tan A=5/12 =F|“§I/§f§[

(MIT AR, tan? A = 25/144

Tan A = 5/12 = &T5/7GN

TR + G2 = Sfoge?

25 + 144 = Tfoge?

OGS = 169
Yoy =13

SinA=P/H=5/13
SecA=H/B=13/12
SinA+SecA=5/13+13/12=229/156

Q:8 SIOF Tad =4 fIFg 1 W] (m2 +
1)/2m

S S (3,

sec’ A-tan?A =1
a’-b%=(a+b) (a-b) (FIIRIAIE
(sec A+tan A) (sec A-tan A) =1
secA+tanA=m

(sec A-tan A) =1/m

ToF (15 SR A1Z,
2secA=m+1/m

sec A =(m?+1)/2m

Q:9 ST T8 = gy 4 Wl 22
tan60° = \3
cosec60’ = 2/3
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cos 0’ =1

Hodlg,

3 tan?60° + 9 cosec?60° + cos 0°
=3x3+9%x4/3+1=9+12+1=22

Q:10 333 Gud faag 2 wefig 1/2
SinA=P/H=5/13

SecA=H/B=13/12
SinA+SecA=5/13+13/12=229/156
2sin15°Sin75° + (tan 22° - cot 68°) x sin 11°
= 2sin15°sin(90° — 15°) + [tan 22° - cot (90° -
22°)] x sin 11°

= 2sin15°cos15° + (tan22° - tan22°) x sin 11°
A4,

2sinAcosA = Sin 2A

Sin30°+0xSin11°

=1/2
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